N of reco track vs dxy [\ of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

1%} (%] %] [%]
x x < B4
[*] L Q [=] o
g , g, g g
S10*F o*F = =
3 . @0 e
F = F = 8107
r r =
10°F - 10°F 3
E - E 10°
10°F 10°F
[ [ o 10
10F 10 -
£ Lot :---mﬁu-e 1
b 1 1 1 1 1 Boaboidinibaode Bk
__update g .
update ate fleroaallo
|2 [o
‘ ] 3
0995= 20 19 10-5 0 5 10 15 20 25 0995 =%0= 1; 10-5 0 5 10 15 20 25 095 =50-15-10 -5 0 5 10 15 20 25 05 50-15-10 =5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
[N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
2 Fon e Fo T T T g
g g g
3 3 o
£° &0 £
g
310
10? 10°
10 10
: : : 3 . - - . l 4
o ot F ik o I i ) o
| g | 3 | | 3
H @ } @ @
. I . 1 3 1
Il
|||||||||i|||||||||€llWllili Il L] |€||||I||||i|llWlllE|| [l [ | ||||||||€| | - -
| : :
°%30° 20 30 0%30 30 °%p 20 -10 0 20 30 °¥Pp—20 -10 0 10 20 30

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


